Zero Coupon Bond	


1.	An investor purchases a security called a zero coupon bond. The bond will be worth $10,000 when it matures 30 years from now, but there are no interest payments prior to maturity. Based upon the purchase price of the bond, the effective annual yield (i.e. effective interest rate) on this investment is 7%. What was the purchase price of the bond?


2.	Bond trading prices and annual yields can be found in the financial pages of daily newspapers. Often there appears a news item such as the following: “Bond prices fell again today, as the 30-year yield increased to 7.48%.” It turns out that when the price of a bond falls, its effective yield increases, and when the price of a bond rises, its effective yield decreases.


	Explain why bond prices and yields must move in “opposite” directions. It may help to work out some examples using different interest rates.
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